AR AR /RE 7R 2

A| B EBA| X% >3 =IE HEBE BEEE SEESEE
SUEC | RiB° (o) (7v) 1) - (A (2) x48

8|1 | = ® 36.6 | 24.7 27.4 19. 1 2.1 1,018
2 | H ) & 38.5 | 24.5 18.2 13.9 11.6 1,224
3 | B |<sY | 36.5| 25.5 13.4 9.7 11.1 998
4 | XK ° 35.8 | 25.3 13.9 10.2 13.0 1,114
5 | Kk ° 38.9 | 24.9 22.0 17.7 6.5 1,162
6 | K ° 37.4 | 26.0 17.0 12.0 8.9 1,003
7| & 3 37.1 | 25.1 14.5 9.8 14.8 1,181
8 | £ | <ty | 20.6| 24.6 14.5 11.0 2.2 634
9 | B [ <&y | 30.8| 22.5 13.1 9.7 -1.2 408
10 B |<by | 352 228 16. 4 11.4 10.8 1,066
1| & | <dy | 32.4 | 23.5 11.3 7.9 5. 1 624
12 | Kk [ <sy | 31.0 23.5 13.6 9.8 3.3 629
13 | K 3] 23.4 | 21.7 12.2 10.3 -8.9 67
14 | & 3] 26.1 | 21.1 12.6 10. 1 5.8 206
15 | * o 31.2 | 21.6 12.8 8.6 10. 1 898
16 | B | <&y | 30.1| 21.7 12.6 9.2 2.1 542
17 | A 3] 25.2 | 23.3 12.7 10.0 -8.8 58
18 | %k o 32.7 | 23.1 14.3 9.2 15.7 1,195
19 | K [ <3y | 30.6 232 15.0 11.0 7.2 874
20 | K [ <HY | 26.7 | 20.1 13.5 9.6 -2.9 322
21 | & 3] 26.1 | 22.2 14.1 11.0 -1.7 158
2 | * o 30.9 | 22.8 14.3 11.3 -3.8 360
23 | H 3] 22.6 | 21.8 13.9 11.9 -10.5 67
24 | B | <Y | 23.8| 19.5 13.3 10.3 -4.7 269
25 | Xk | <&y | 201 ] 17.8 1.1 8.6 -4.7 187
26 | k| 20.3 | 17.1 12.1 10.3 -8.3 96
21 | K 3] 21.3 | 18.0 12.9 10.0 -6.5 168
28 | & | <Y | 21.7] 18.0 13.7 10.9 -1.7 154
29 | * 3] 20.2 | 17.4 12.6 10. 2 -8.5 82
3  H 3] 20.8 | 18.6 13.6 11.5 -9.7 86
31| A 3] 21.5 | 18.9 14.3 1.7 -9.6 101
8ﬁe‘=‘+ 446.9 | 337.9 mwaR 158 16, 762
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